EQUATIONS IWORKSHEET 6A

NAME
ZERO POWER
PRINCIPLE
¥ * 0 =1 forany non-zero value of ¥, O * 0 s undefined.

Consider this sequence of powers.

decreasing e:{pnnents—\L
2% = 32 i,
4 IEI(]rrdwnje by 2
23 ; 5 J—divide by 2

—divide by 2

2
21 = 4(_—|+’rl:li'-.-'1|:le by 2
3.3 ) E ] e—divide by 2

Based on the pattern of dividing by 2 to get the next smaller
power, 29 = 1.

EXAMPLES

1.7*0=1 2 0-3)*0=1 IS *0=

4. For a Goal of 1, a Solution can be made of the form 1% Q.
any number except 0

S. & Solution like 9+ 7 can be padded to 9+ 7w [([_h=a].

EXERCISES

Circle the number of each Solution in Exercises 1-6 that equals a
Goal of 400 If a Solution can be grouped so that it does not equal
40, consider it incorrect and do not circle its number,

1. Brax{0=0) 2. (6*2)+4+-85*0
0D -(3+ 2002+ 1)%0 4 (7w -1-03%0)
S 7 +B)x 3+ (0% Q) G (F*2)-09+(3x1)%0

MORE CHALLENGING EXERCISES
Use all the Resources listed to write a Solution for the given Goal.

Goal Fesources solution
7.o01-5)F0 +w+3457F
. 59+4 +u+®023785
9 4 9+7 +x**¥017509
10, 32 -u**P2TZI50
11. 3+4 +-++®2567509

12, 1 * 899 +-H*®*E022356




